Similar 3 Dimensional Figures
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1. Below are two similar triangles.
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Below are two similar pentagonal prisms.
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The volume of prism A is 15cm3
Work out the volume of prism B.
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Below are two similar parallelograms.
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The area of parallelogram A is 28cm?
Work out the area of parallelogram B.
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Shown below are two mathematically similar shapes.

B

e

15¢cm

A
sem | QD

The area of shape B is 150cm?2

Work out the area of shape A.
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Shown below are two boxes that are mathematically similar.
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The volume of the small box is 500cm?3
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Work out the volume of the larger box. | |10
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8. Shown below are two mathematically similar cuboids.
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The volume of cuboid B is 1728cm3 Vol L - 6 -
Find the volume of cuboid A.
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(Total for Question 14 is 3 marks)

15 Here are two pots.

8 cm
10 cm
Pot A

(Total for Question 15 is 2 marks)

Pot B
Pot A and pot B are mathematically similar. A : @
The area of the base of pot B is 160 cm?. . :
P Legth g 0 = & .S
Work out the area of the base of pot A.
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Shown below are two mathematically similar parallelograms
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10. The two buckets below are similar.
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11.  Prism A and prism B are mathematically similar

gs Not drawn to scale

Prism A

Prism B

Prism A has a cross-sectional area of 25cm?2

3
Work out the volume of prism B. Vol of A = 25 x =z 250~
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